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Physics worksheets- P1 Topic 6
Energy transfers. Worksheet P1.31c

This is an energy conversion diagram for a television. The widths of the arrows are proportional to the amount of energy they represent.
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It is easier to draw an energy conversion diagram if you use graph paper.
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1
A light bulb takes 60 J of energy to produce 33 J of useful light energy. The rest becomes heat energy.


a
What kind of energy is the input energy?

b
How much energy becomes heat?

c
Draw an energy conversion diagram to represent the energy transformations in the light bulb.
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2
A kettle uses 10 000 J of energy but only 7500 J of the energy is transferred to the water in the kettle. 

a
Draw an energy conversion diagram to represent the energy changes. Label all the arrows on the diagram.

b
What happens to the energy not used to heat the water? 


Most clocks today use electricity, either from the mains 
supply or from batteries.

The drawings show two different kinds of clock that do not use electricity.

3
Describe the energy transformations in the clocks shown here.
Efficiency. Worksheet P1.32d

1
Which equation is the correct equation for calculating the efficiency of a machine? Tick one box. 

efficiency = 
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2
Some of these statements are true and some are false. Tick the boxes to show which ones are which.




True
False


a
An old-style light bulb uses 60 J of energy to give 6 J of useful heat energy.
(
(

b
The efficiency of the light bulb is 10%.

(
(

c
A ‘low energy’ bulb uses 15 J of chemical energy to give 7 J of useful
light energy and only wastes 8 J of heat energy.
(
(

d
The efficiency of the low energy bulb = 
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 × 100% = 39%.
(
(

e
An efficient appliance wastes more energy than an inefficient one.
(
(

f
You always get the same amount of energy out of a machine as you put into it.
(
(
3
For each statement that you have ticked as false, explain why it is wrong.


Statement ___is wrong because


Statement ___is wrong because


Statement ___is wrong because


Statement ___is wrong because

The earth’s temperature. Worksheet P1.34b
1
What do you notice if you get into a black car on a sunny day?

2
Why does a white T-shirt feel cooler in the Sun than a black T-shirt?

3
What would be the best colour to paint a radiator in a car cooling system or the cooling fins on the back of a refrigerator?

4
How can two surfaces at the same temperature give off different amounts of thermal radiation?

5
Complete the following sentences.

If the Earth emits more radiation than it receives from the Sun


If the Earth receives the same amount of radiation as it emits


If the Earth emits less radiation than it receives from the Sun

The earth’s temperature. Worksheet P1.34c
For each of the pictures shown below, state whether or not the things shown will be at a constant temperature. If they are not, explain how the temperature is changing and what this means about the amount of power being radiated and absorbed. 
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